Leader

LR2732
VORI N7 TH—
RACK MOUNT ADAPTER

BUNGRES
Instruction Manual

BEVEITFWEZEEHONESTENET.

COEURGRIAE ENRBD REZ2R2(CTHERAVEELEDIC] ZL<EHTZHDIR.
HEZLZE(CHENTZS0N,

Thank you for purchasing.

Please carefully read this instruction manual and the included "GENERAL SAFETY SUMMARY".
Please use the product safely.



HmZR2(CTERVWEIESEZEDIC
GENERAL SAFETY SUMMARY

TRICRIFEALOES. FEFIAL. FHABOBR. £EmCHIIBREKIUVERDIES. HLREZRITD
ZHDEDTY ., w3 FieDES, FBBIEZT O CIERALIZEL,

Review the following safety precautions to avoid operator’s injury and loss of life and prevent damage
and deterioration to this instrument. To avoid potential hazards, use this product as specified.

A’gﬂi/\NARNING

FRARUIICEATREEEIE Warning Concerning the Screws

FERARUIE. AT TRICHE > THEEDBES LUORSOBDZFER LTSV, BEMINORUZE
FAITDIERHEARRCEEZREFL. N, FRE. HE. FHRAEDFERERDET,

Use screws of the specified type and length according to the assembly diagrams. Using other
screws may adversely affect the unit and can cause fire, electric shock, malfunction, accidents,
and so on.

&5‘ 2 /CAUTION

AL TICEIT DFEREIE  Caution Concerning Assembly

AL TORE, IREDITYZETITNZITIBENNAHDEIDT. +FRUTHAIL T TS
LY,

Exercise caution during assembly to prevent injury, such as from the edges of the metal plate.

RUFSDATT MLOIICEETDEEEIE  Caution Concerning the Screw Tightening Torque

RUIFEEDHEICEAN ST, TROMMDMAIT LI D> THOHTIZE UV, NSV EEBHIZECE
9. Flo. MEHBET D EWETCOUELED. WINEHEDRERERDFT,

Fasten the screws according to the tightening torque of Table regardless of the shape of the
screw head. If the tightening torque is too low, the screws may come loose. If it is too tight, it
may lead to breaks or elongation and can cause a malfunction.

IFU42  Nominal Diameter | #%&{3F ~)L2  Tightening Torque (cN-m)

M2.5/ M2.6 41.2
M3 59.8
M4 147.0

M5 294.0




1.

2.

2.1

2.2

(FU&IC INTRODUCTION

ZDIEMZE, U= —BFORBZESENLITFWEREEXLT, WICHONESTEVFET.,. BEzeise
(CTEERWEREL 28, CEARCARBGEGRAE ZREBETHHRAVVCIEE. HEDIEULMENSZIHE

ROE. ZERLIEE,
Thank you for purchasing LEADER's product. Please read this instruction manual carefully to

ensure correct and safe operation.

{I#k SPECIFICATIONS

¥IZ General

AEGE. EIACKESETFIER)ICECR 19/ >F SV IICHHERZRMDMITDIHDITYVINT>
NS TH—-TT,

The LR2732 is a rack mount adapter used to attach Leader's products to a 19-inch EIA
(Electronic Industries Alliance) standard rack.

XTSHEAE  Applicable Models

LvV7300



2.3

HMIZTER

Mounting Dimensions

6-6x1041 28 213 213 28
3
b g — 3 — 3 /3 —3 /3 /3 —/—3 —3 D /g 3 3 — /3 /3 /3 /3
o H@EE@\EE@E@E@”@'am@\a@a@m@EE@"@BH
g & L OED @@E = =P BEE
Y& ©NO000 momooam mms | @00 Ommmm @D wr
(85) 465 (85)
482
n " ano (000 "
o @ @ @ ®
o]
® @ ®
b N il
®
S
N R
t
o
<
§
® ® ®
[i] I T r [i] —
g anlinlioiciE=xal IBliE la
D il
(8.5 4584 (8.5)
D
N &
; =
=
3
5'2- 426 25.




2.4 ¥ERkANES  Contents

AEBEITEDOIRETEREINTVET ., AT TRICHEST., EUSHEHIITTLZE,
The LR2732 consist of the parts indicated below. Assemble the parts correctly according to the
assembly diagrams.

5 X BFR HE
Symbol Figure Iltem Name Qty.
PERPAN
a 2
Joint
Iy~
b 2
Plate Nut

A1 kL=
c 2
Slide Rail
L—ILER—k
d 2
Rail Support
S SwoHR— ~
e Ny o : 2
S | Rack Support




s Bl = H2
Symbol Figure Iltem Name Qty.

I\ > RVl M3x8
Binding-head Screw M3x8
N> RVl M4x8

g 4
Binding-head Screw M4 x8
I\ > R M5%x16

h 4
Binding-head Screw M5x16
m/hal M3x5

i 8
Flat-head Screw M3x5

. % /NEEIVMVAL M4 X8 ,

J
Low Head Countersunc Screw
FEIOw v —M5 H

k 4
Plain Washer for M5
EREREAE

Instruction Manual




3.1

3.2

#HAMHIIT ASSEMBLY

C T LV7300 ZEAD 7D FIEZRUE T,
This section describes how to rack mount the LV7300.

JFEEIE  Notice

® AHEM(IBEITE 420~650mm DSV I(CHIGLTVWET ., SEENDS Y ICEFEMDfMAITFSNERE
/L/O
The product must be between 420 and 650 mm in depth to be fixed to the rack.

0 VIRIHBIUBHZSY IAEANEEL TLZEW. BELURGEDEHNCDONTE, =
BULHMRFET,
Please be sure to fix the front and the rear to the rack firmly. We will not be held
responsible for any damage or injury resulting from failure to follow this instruction.

#{iE Preparation

0 AREGDEAITICIFUTOIENMKNETT ., BEKBETCTIHRIIZEL,
To attach the rack mount adapter to an LV7300, following tools are required. A customer is
requested to prepare the tools for himself.

cTISARSAIN— (2F) Screwdrivers for cross recessed head screws (type2)
- FR Gloves
- FwEBIEAYX MR Antistatic wrist band

® LV7300 OERZY)> T, EEI— RERLTIZEL,
Turn off the LV7300, and remove the power cord.



3.3 AL TFIE Assembly Procedure

1. LV7300 5. B &MMZEIWMONHLET,
Remove the four feet from the LV7300.




2. LV73002&E%ZZ 31> ba)THESL. SYIHR—Ne)ZBMDHIFTET,
Join two LV7300s together using joint (a). Then attach the rack supports (e).




3.

LV7300 (CRS1 RL—)L(c) &L —ILBR— Md)ZERDMITTHS. SYIRRANBELET.
XS54 RL—I)L(C)DEEAIEE. TV IRAKDEITE(CENDE TS,

Attach the slide rails (c) to the LV7300, and then fix them to the rack. The position for
fixing a Slide Rail (c) must be decided according to the depth of the Rack.




HmCET2BMEE
At EREFED

B\FE 045-541-2122 Fax 045-541-2120
E X—J)l sales@leader.co.jp

)-F-EFiFNEw

T223-8505 MAR)IB#EATEILXHASER2TE6E33IS

Head office Sales Department
Tel 81-45-541-2123 Fax 81-45-541-2823
Email sales@leader.co.jp

Leader Electronics Corporation

2-6-33 Tsunashimahigashi , Kohoku-ku , Yokohama-shi ,
Kanagawa , 223-8505 , Japan

www.leader.co.jp

Aug. 22, 2018 Ver.1



	製品を安全にご使用いただくために
	GENERAL SAFETY SUMMARY
	1. はじめに　INTRODUCTION
	2. 仕様　SPECIFICATIONS
	2.1 概要　General
	2.2 対応機種　Applicable Models
	2.3 外形寸法図　Mounting Dimensions
	2.4 構成内容　Contents

	3. 組み立て　ASSEMBLY
	3.1 注意事項　Notice
	3.2 準備　Preparation
	3.3 組み立て手順　Assembly Procedure


